

# Fractional Differential Equation using Fractional order Laplace-Carson Transform

<sup>1</sup>Shivaji S. Pawar, <sup>2</sup>Sandip M. Sonawane

<sup>1,2</sup>Department of Mathematics, SRES's Sanjivani COE, Kopergaon, Maharashtra, India

<sup>1</sup>Department of Mathematics, Sunrise University, Alwar, Rajyastan, India

<sup>1</sup>e-mail: sspcoe@gmail.com, <sup>2</sup>e-mail: smsmathscoe@gmail.com

## Abstract

In this paper, author have used fractional order Laplace-Carson transform to obtain solution of fractional order differential equation. The existence of  $\alpha$ -order fractional integral transform is proved and its properties are given with proof. The fractional transform of Riemann-Liouville fractional derivative and Caputo fractional derivative is obtained using  $\alpha$ -order fractional integral transform. Author has found specific restriction on  $\alpha$  to solve fractional differential equation of order  $\alpha$  using  $\alpha$ -Laplace Carson transform.

**Keywords:** Orthogonal Polynomial, Sandip Transform, Fractional Integral Transform, Mahgoub Transform.

## 1 Introduction

Integral transform method is useful method in science and engineering, In engineering, to solve a differential equations like  $\omega^0 t = a\delta(t)$ , where  $\delta(t)$  is Dirac delta function, Integral transform method is introduced. Laplace transform and Fourier transform are the well known integral transforms used worldwide. Laplace transform [3] is defined as,

$$L[\omega(t)] = \int_0^{\infty} e^{-vt} \omega(t) dt = W(v), \quad Re(v) > a \quad (1)$$

$$\text{also } L\left[t \frac{d\omega(t)}{dt}\right] = -v \frac{dW(v)}{dv} - W(v) \text{ and } L\left[t^2 \frac{d^2\omega(t)}{dt^2}\right] = v^2 \frac{d^2W(v)}{dv^2} + 4v \frac{dW(v)}{dv} + 2W(v).$$

Let's apply Laplace transform to solve Euler-Cauchy's differential equation (more details see [6]),

$$t^2 \frac{d^2\omega(t)}{dt^2} - t \frac{d\omega(t)}{dt} + 2\omega(t) = t^2 \quad (2)$$

one will get,

$$v^2 \frac{d^2W(v)}{dv^2} + 5v \frac{dW(v)}{dv} + 4W(v) = \frac{2}{v^3} \quad (3)$$

Here it is observed that equation (2) and equation (3) both are similar and the solution is not possible by Laplace transform. If one used Mahgoub transform [6],[8] or Laplace Carson transform [12] obtained by modifying kernel of Laplace transform, then gets the solution of equation (2) as,

$$M[\omega(t)] = v \int_0^{\infty} e^{-vt} \omega(t) dt = W_m(v), \quad Re(v) > a \quad (4)$$

also  $M \left[ t \frac{d\omega(t)}{dt} \right] = -v \frac{dW_m(v)}{dv}$  and  $M \left[ t^2 \frac{d^2\omega(t)}{dt^2} \right] = \frac{d}{dv} \left[ v^2 \frac{dW_m(v)}{dv} \right]$ . Then equation (2) becomes,

$$\frac{d}{dv} \left[ v^2 \frac{dW_m(v)}{dv} \right] + \frac{d}{dv} [vW_m(v)] = \frac{2}{v^2} \quad (5)$$

Integrating with respect to  ${}^0v^0$  gets first order linear differential equation and using inverse Mahgoub transform the solution is  $\omega(t) = t^2 + ct$ . Looking the above examples, it is observed that small modification in the Kernel of Laplace transform gives solution of the problems which are not solve by Laplace transform. In last two decades lots of such modifications done by the researchers and obtained the results. Sumudu transform [2],[6],[13],[16], Kamal transform[5],[8], Aboodh transform[1],[14], Sadik transform[10], Sandip transform[11] etc. are the transforms developed by various authors by modifying Kernels of Laplace transform and solve differential equations appear in engineering applications. Sonawane and Kiwne [12] used Mahgoub transform (Laplace-Carson Transform) in cryptography with Sandips Method. In Sadik transform if  $\beta = -\alpha$ , then one get

$$K^\alpha[\omega(t), v] = v^\alpha \int_0^\infty e^{-v^\alpha t} \omega(t) dt \quad (6)$$

This is new representation of Integral transform of order  $\alpha$ . It is also the modification in Mahgoub transform. Using equation (5) one will able to find fractional order integral transform like fractional order derivative. In this article, this new representation is used as new integral transform and given the name  $\alpha$ -Laplace-Carson transform. It is used to solve fractional order Differential equations [4]. The main aim of this modification is to obtained  $K_1^{(1/2)}$  that is fractional order Integral transform like  $D_1^{(1/2)}$  is derivative of order  $\frac{1}{2}$ . Lets start with the definition of  $\alpha$ -Laplace-Carson transform (or Sadik transform with  $\beta = -\alpha$ ).

## 2 $\alpha$ -Laplace-Carson Transform: Definition and Properties

**Definition 2.1.** Let  $\omega(t)$ , be piecewise continuous or continuous function of  $t \geq 0$ ,  $n$  be any integer such that  $n - 1 \leq \alpha \leq n$  then the  $\alpha$ -Laplace-Carson Transform is,

$$K_n^\alpha[\omega(t), v] = v^\alpha \int_0^\infty e^{-v^\alpha t} \omega(t) dt = W_n^\alpha(v), \quad \text{Re}(v^\alpha) > a \quad (7)$$

here  $v \in C, a$  is exponential order of function  $\omega(t)$ .

Here one can observed that, In particular,  
 Let  $\alpha = 1$  then,

$$K_n[\omega(t), v] = v \int_0^\infty e^{-vt} \omega(t) dt = LC[\omega(t), v] = vL[\omega(t), v] \quad (8)$$

Here  $L[\omega(t), v]$ ,  $LC[\omega(t), v]$  are Laplace and Laplace-Carson transform respectively [12].

From equation (7) we write,

$$K_n^\alpha[\omega(t), v] = v^\alpha L[\omega(t), v^\alpha] \text{ that is, } W_n^\alpha[v] = v^\alpha W[v^\alpha]$$

The Inverse  $\alpha$ -Laplace-Carson Transform is,

$$\omega(t) = \int_{\gamma-i\infty}^{\gamma+i\infty} e^{vt} W_n^\alpha(v^{1/\alpha}) \frac{dv}{v^{1/\alpha}}. \quad (9)$$

## 2.1 Properties of $\alpha$ -Laplace-Carson Transform

**Theorem 2.2** (Sufficient Condition for  $\alpha$ -Laplace-Carson Transform). *Let  $\omega(t)$  be a exponentially order piecewise continuous or continuous function such that  $|\omega(t)| \leq Me^{at}$ ,  $t > 0$  and  $n-1 \leq \alpha \leq n$  then  $\alpha$ -Laplace-Carson Transform of  $\omega(t)$  exists and converges absolutely if  $|v^\alpha| > a$ .*

Proof: Let,  $v = x \pm iy$  be complex number then  $v^\alpha = r^\alpha e^{i\alpha\theta} \geq r^\alpha$  and  $|v^\alpha| = r^\alpha$ .

Consider

$$(10) \quad |K_n^\alpha[\omega(t), v]| \leq |v^\alpha| \int_0^\infty |e^{-v^\alpha t}| |\omega(t)| dt$$

$$(11) \quad < r^\alpha \int_0^\infty e^{-(r^\alpha - a)t} dt$$

$$(12) \quad = \frac{r^\alpha}{r^\alpha - a}, \quad r^\alpha > a$$

**Theorem 2.3.** *Let  $\delta(t)$  be Dirac delta function such that  $\frac{d}{dt}[H(t-a)] = \delta(t-a)$  and*

$$1 \text{ if } t \geq a \quad H(t-a) = \begin{cases} 1 & \text{if } t \geq a \\ 0 & \text{if } t < a \end{cases}$$

then

$$K_n^\alpha[\delta(t^m - k), v] = \frac{k^{1/m} v^\alpha e^{-k^{1/m} v^\alpha}}{mk} \quad (13)$$

and

$$K_n^\alpha[\delta(t^{-m} - k), v] = -\frac{v^\alpha e^{-v^\alpha k^{1/m}}}{(mk)k^{1/m}} \quad (14)$$

Proof: Using substitution  $t^m - k = r$  and using property of delta function [3] we get equality.

**Theorem 2.4 (Shifting Properties).** *Let  $K_n^\alpha[\omega(t), v] = W_n^\alpha(v)$  then*

$$K_n^\alpha[e^{at}\omega(t), v] = \frac{v^\alpha}{v^\alpha - a} W_n^\alpha[(v^\alpha - a)^{1/\alpha}] \quad (15)$$

and

$$K_n^\alpha[\omega(t-a)H(t-a), v] = e^{-av^\alpha} W_n^\alpha[v] \quad (16)$$

here,  $H(t-a)$  is Heavisides Unit step function.

Proof:

$$K_n^\alpha[e^{at}\omega(t), v] = v^\alpha \int_0^\infty e^{t(v^\alpha - a)} \omega(t) dt = \frac{v^\alpha}{v^\alpha - a} W_n^\alpha[(v^\alpha - a)^{1/\alpha}]$$

and

$$K_n^\alpha[\omega(t-a)H(t-a), v] = v^\alpha \int_a^\infty e^{tv^\alpha} \omega(t-a) dt$$

Using substitution  $t-a=x$  and simply, one get the result.

**Theorem 2.5** (Convolution Theorem). Let  $\omega_1(t)$  and  $\omega_2(t)$  be functions with  $K_n^\alpha[\omega_1(t), v] = W_{1n}^\alpha(v)$ ,  $K_n^\alpha[\omega_2(t), v] = W_{2n}^\alpha(v)$  then

$$K_n^\alpha[(\omega_1 * \omega_2)(t)] = \frac{1}{v^\alpha} W_{1n}^\alpha(v) W_{2n}^\alpha(v) \quad (17)$$

here

$$(\omega_1 * \omega_2)(t) = \int_0^t \omega(t-u)\omega(u) du$$

Proof: Consider,

$$K_n^\alpha[(\omega_1 * \omega_2)(t)] = V^\alpha \int_0^\infty \int_0^t e^{tv^\alpha} \omega(t-u)\omega(u) du dt \quad (18) \text{ Changing the order of integration and using substitution } t-u=x, \text{ one get}$$

$$K_n^\alpha[(\omega_1 * \omega_2)(t)] = V^\alpha \int_0^\infty \int_0^\infty e^{(x+u)v^\alpha} \omega(x)\omega(u) dx du = \frac{1}{v^\alpha} W_{1n}^\alpha(v) W_{2n}^\alpha(v) \quad (19)$$

## 2.2 Examples on $\alpha$ -Laplace-Carson Transform

1. let  $\omega(t) = 1$ ,  $n-1 \leq \alpha \leq n$  then  $K_n^\alpha[1, v] = 1$ , In particular if  $\alpha = 1/2$  then  $K_1^{1/2}[1, v] = 1$ .

2. let  $\omega(t) = t^{m-1}$ ,  $n-1 \leq \alpha \leq n$  then  $K_n^\alpha[t^{m-1}, v] = \frac{\Gamma(m)}{(v^\alpha)^{m-1}}$ ,  $Re(v^\alpha) > 0$ ,  
In particular if  $\alpha = 1/2$  then  $K_1^{1/2}[t, v] = \frac{1}{\sqrt{v}}$ ,

if  $\alpha = 9/2$  then  $K_5^{9/2}[t, v] = \frac{1}{v^{9/2}}$ ,  $|v| > 0$ ,  $4 \leq \alpha \leq 5$  and  
 $K_5^{9/2}[t^2, v] = \frac{2}{v^9}$ ,  $v > 0$ , and

3. let  $\omega(t) = e^{at}$ ,  $n-1 \leq \alpha \leq n$  then  $K_n^\alpha[e^{at}, v] = \frac{v^\alpha}{(v^\alpha - a)}$ ,  $|(v^\alpha)| > a$ , In particular if  $\alpha = 1/2$  then  $K_1^{1/2}[e^{at}, v] = \frac{\sqrt{v}}{\sqrt{v}-a}$ ,  $|\sqrt{v}| > a$ .

4. let  $E_{a,b}(t)$  be the Mittag-Leffler Function defined as,

$$E_{a,b}(t) = \sum_{k=0}^{\infty} \frac{t^k}{\Gamma(ak + b)}$$

then for  $n-1 \leq \alpha \leq n$  one will get,

$$K_n^\alpha [t^{b-1} E_{a,b}(ct^a), v] = \frac{v^{a\alpha - b\alpha + \alpha}}{v^{a\alpha} - c}, \quad |v^{a\alpha}| > c \quad (20)$$

Proof: Consider

$$K_n^\alpha [t^{b-1} E_{a,b}(ct^a), v] = \sum_0^\infty \frac{v^\alpha c^k}{\Gamma(a\alpha + k)} \int_0^\infty e^{-v^\alpha t} t^{ak+b-1} dt$$

$$\therefore K_n^\alpha [t^{b-1} E_{a,b}(ct^a), v] = \frac{v^{a\alpha + \alpha}}{v^{b\alpha} (v^{a\alpha} - c)}, \quad |(v^{a\alpha})| > c$$

In particular if  $\alpha = 3/2$  then

$$K_2^{3/2} [t^{-1/3} E_{\frac{2}{3}, \frac{2}{3}}(at^{2/3}), v] = \frac{v^{3/2}}{v - a}, \quad |v| > a$$

and

$$K_1^{2/3} [t^{-1/3} E_{\frac{2}{3}, \frac{2}{3}}(at^{2/3}), v] = \frac{v^{2/3}}{v^{4/9} - a}, \quad |v| > a.$$

5. let  $E_t(\vartheta, a)$  be the Mellin-Ross Function defined as,

$$E_t(\vartheta, a) = t^\vartheta E_{1, \vartheta+1}(at) = t^\vartheta \sum_{k=0}^{\infty} \frac{(at)^k}{\Gamma(k + \vartheta + 1)}$$

then for  $n-1 \leq \alpha \leq n$  one get,

$$K_n^\alpha [E_t(\vartheta, a), v] = K_n^\alpha [t^\vartheta E_{1, \vartheta+1}(at), v] = \frac{v^{\alpha(1-\vartheta)}}{(v^\alpha - c)}, \quad |v^\alpha| > c \quad (21)$$

6. let  $\omega(t) = \operatorname{erf}(t)$ ,  $n-1 \leq \alpha \leq n$  then

$$K_n^\alpha [\operatorname{erf}(t), v] = e^{\frac{v^{2\alpha}}{4}} \operatorname{erf}_c \left( \frac{v^\alpha}{2} \right) = E_{1/2, 1} \left( -\frac{v^\alpha}{2} \right)$$

7. let  $\omega(t) = \operatorname{erfc}(t)$ ,  $n-1 \leq \alpha \leq n$  then

$$K_n^\alpha [\operatorname{erfc}(t), v] = 1 - E_{1/2, 1} \left( -\frac{v^\alpha}{2} \right)$$

**Theorem 2.6.** Let  $\omega(t)$  be piecewise continuous function having  $n^{\text{th}}$  derivative with  $K_n^\alpha [\omega(t), v] = W_n^\alpha(v)$  then

$$m-1$$

$$Kna[\omega m(t), v] = vmaWna(v) - X v\alpha(k+1)\omega m-k-1(0) \quad (22)$$

$k=0$  Proof: Consider,

$$\begin{aligned} K_n^\alpha[\omega'(t), v] &= v^\alpha \int_0^\infty e^{-v^\alpha t} \omega'(t) dt \\ &= v^\alpha \left[ \left( e^{-v^\alpha t} \omega(t) \right)_0^\infty + \int_0^\infty v^\alpha e^{-v^\alpha t} \omega(t) dt \right] \\ &= v^\alpha W_n^\alpha(v) - v^\alpha \omega(0) \end{aligned}$$

Similarly one prove for  $m = 2$  and by induction get the result.

**Theorem 2.7.** Let  $b$  be a real non negative number and  $\omega(t)$  be piecewise continuous function on  $(0, \infty)$  with  $K_n^\alpha[\omega(t), v] = W_n^\alpha(v)$  then

$$K_n^\alpha[{}_0D_t^{-b}\omega(t), v] = \frac{1}{v^{\alpha b}} W_n^\alpha(v), \quad \alpha \leq b. \quad (23)$$

Here,  ${}_0D_t^{-b}\omega(t)$  is Riemann-Liouville Fractional Integral defined as,

$${}_0D_t^{-b}\omega(t) = \frac{1}{\Gamma(b)} \int_0^t (t-u)^{b-1} \omega(u) du, \quad b > 0 \quad (24)$$

Proof: Using convolution theorem with the definition of  $\alpha$ -Laplace-Carson transform, one get

$$K_n^\alpha[{}_0D_t^{-b}\omega(t), v] = \frac{1}{v^\alpha \Gamma(b)} K_n^\alpha[t^{b-1}] K_n^\alpha[\omega(t)] = \frac{1}{v^{\alpha b}} W_n^\alpha(v)$$

In particular, for  $\alpha = \frac{1}{2}, \frac{2}{3}, \quad 0 < \alpha < 1$  one will get,

$$K_1^{1/2}[{}_0D_t^{-1/2}t^2, v] = \frac{2}{v^{5/4}}, \quad K_1^{2/3}[{}_0D_t^{-7/2}t^2, v] = \frac{42}{15v^5}$$

**Theorem 2.8.** Let  $b$  be a real non negative number and  $\omega(t)$  be piecewise continuous function on  $(0, \infty)$  with  $K_n^\alpha[\omega(t), v] = W_n^\alpha(v)$  then

$$K_n^\alpha[{}_0D_t^{b-k}\omega(t), v] = \frac{v^{\alpha k}}{v^{\alpha b}} W_n^\alpha(v) - \sum_{k=0}^{m-1} \frac{v^{\alpha k}}{v^{\alpha b}} \omega(0). \quad (25)$$

Here,  ${}_0D_t^b\omega(t)$  is Riemann-Liouville Fractional Derivative defined as,

$${}_0D_t^b\omega(t) = D^m[{}_0D_t^{-(m-b)}\omega(t)] \quad (26)$$

Proof: Using Theorem (2.6), one will get,

$$K_n^\alpha[{}_0D_t^{b-k}\omega(t), v] = \sum_{k=0}^{m-1} \frac{v^{\alpha k}}{v^{\alpha b}} K_n^\alpha[{}_0D_t^{-(m-b)}\omega(t), v] - \sum_{k=0}^{m-1} \frac{v^{\alpha k}}{v^{\alpha b}} \omega(0) \quad (27)$$

simplifying, one will get,

$$m-1$$

$$K_n^\alpha [R_0 D_t^{-b} \omega(t), v] = v^{\alpha b} W_n^\alpha(v) - \sum_{k=0}^{m-1} v^{\alpha k + \alpha} {}_0 D_t^{b-k-1} \omega(0).$$

$$k=0$$

Case 1. If  $\alpha = b$  then we get  $n = m$  and

$$n-1$$

$$K_n^\alpha [R_0 D_t^{-\alpha} \omega(t), v] = v^\alpha W_n^\alpha(v) - \sum_{k=0}^{n-1} v^{\alpha k + \alpha} {}_0 D_t^{b-k-1} \omega(0). \quad (28)$$

$$k=0$$

Case 2. If  $\alpha \neq b$  but  $n = m$  then

$$n-1$$

$$K_n^\alpha [R_0 D_t^{-b} \omega(t), v] = v^{\alpha b} W_n^\alpha(v) - \sum_{k=0}^{n-1} v^{\alpha k + \alpha} {}_0 D_t^{b-k-1} \omega(0). \quad (29)$$

$$2$$

$$\alpha-k-1$$

$$k=0$$

**Theorem 2.9.** Let  $b$  be a real non negative number and  $\omega(t)$  be piecewise continuous function on  $(0, \infty)$  with  $K_n^\alpha [\omega(t), v] = W_n^\alpha(v)$  then

$$K_n^\alpha [C_0 D_t^{-b} \omega(t), v] = v^{\alpha b} W_n^\alpha(v) - \frac{1}{v^{\alpha(n-b)}} \sum_{k=0}^{m-1} v^{\alpha k + \alpha} {}_0 D_t^{b-k-1} \omega(0). \quad (30)$$

Here,  $C_0 D_t^b \omega(t)$  is Caputo Fractional Derivative defined as,

$$C_0 D_t^b \omega(t) = [{}_0 D_t^{-(m-b)} D^m \omega(t)] \quad (31)$$

Proof: Using Theorem (30) one get,

$$\begin{aligned} K_n^\alpha [C_0 D_t^{-b} \omega(t), v] &= K_n^\alpha \left[ {}_0 D_t^{-(m-b)} \frac{d^m}{dt^m} \omega(t) \right] \\ &= \frac{1}{v^{m\alpha - b\alpha}} K_n^\alpha [D^m \omega(t), v] \\ &= v^{b\alpha} F_n^\alpha(v) - \frac{1}{v^{\alpha(n-b)}} \sum_{k=0}^{m-1} v^{\alpha k + \alpha} \omega^{m-k-1}(0) \end{aligned}$$

In particular,

$$K_1^{1/2} [R_0 D^{1/2}(1), v] = v^{1/4}, \quad K_1^{2/3} [R_0 D^{1/2}(1), v] = v^{1/3}$$

and

$$K_1^{1/2} [C_0 D^{1/2}(1), v] = 0 \quad K_1^{1/2} [C_0 D^{1/2}(t^2), v] = \frac{4}{3v^{3/2}}$$

### 3 Applications to Fractional Differential Equation

**Example 3.1.** Consider  $D^{2/5}\omega(t) = 3\omega(t) + 5\delta(t-4)$ , . Here  $b = \frac{2}{5}$  so we take  $\alpha = \frac{5}{2}$  and apply  $\alpha$ -Laplace-Carson transform we get,

$$K_3^{5/2}[R_0 D^{2/5}\omega(t), v] = 3K_3^{5/2}[\omega(t)] + 5K_3^{5/2}[\delta(t-4), v]$$

$$(v-3)K_3^{5/2}[\omega(t), v] = \frac{5v^{5/2}e^{-4v^{5/2}}}{4} - cv^{5/2}$$

$$\Rightarrow K_3^{5/2}[\omega(t), v] = \frac{5v^{5/2}e^{-4v^{5/2}}}{4(v-3)} - \frac{cv^{5/2}}{v-3}$$

$$\therefore \omega(t) = \frac{5}{4}t^{-3/5}E_{2/5,2/5}(3(t-4)^{2/5})H(t-4) - ct^{-3/5}E_{2/5,2/5}(3t^{2/5})$$

Here we take  $D^{-3/5}\omega(0) = c$ .

**Example 3.2.** Consider  $D^{2/3}\omega(t) = a\omega(t)$ ,  $a$  is constant. Here  $b = \frac{2}{3}$  so we take  $\alpha = \frac{3}{2}$  and apply  $\alpha$ -Laplace-Carson transform we get,

$$K_2^{3/2}[R_0 D^{2/3}\omega(t), v] = aK_2^{3/2}[\omega(t), v]$$

$$(v-a)K_2^{3/2}[\omega(t), v] = cv^{3/2}$$

$$\Rightarrow K_2^{3/2}[\omega(t), v] = \frac{cv^{3/2}}{v-a}, \quad v > a$$

$$\therefore \omega(t) = ct^{-1/3}E_{2/3,2/3}(at^{2/3})$$

Here we take  $D^{-1/3}\omega(0) = c$ .

In the same example if take  $\alpha = 2/3$  then we get the same final answer but the transform value is different, that is we get,

$$K_1^{2/3}[\omega(t), v] = \frac{cv^{2/3}}{v^{4/9} - a}.$$

Also if we start to solve the example like,  $D^{2/5}\omega(t) = 5\delta(t-4)$  with  $\alpha = \frac{5}{2}$  then

$$K_3^{5/2}[R_0 D^{2/5}\omega(t), v] = 5K_3^{5/2}\delta(t-4)$$

$$Wna(v) = 5v^{3/2}e^{-4v^{3/2}} + cv^{3/2}$$

Its inverse  $\alpha$ -Laplace-Carson transform is not exist. So it is always better to take  $\alpha \leq b$  for good result. One can say that this is restriction on  $\alpha$ .

### Conclusion

$\alpha$ -Laplace-Carson transform gives solution of fractional order differential equation. One can find fractional order integral transform of functions also. This transform can be used in fractional differential equations.



## Acknowledgement

The author is very much thankful to Savitribai Phule Pune University, Pune and Sanjivani College of Engineering, Kopergaon for valuable support for this work.

## References

- [1] Aboodh K. S. The New Integral Transform Aboodh Transform, *Glob. J. Pure Appl. Math.*, 9(1),(2013), 35-43.
- [2] Belgacem F. and Karaballi A. A., Sumudu transform fundamental properties investigations and applications. *J. Appl. Math. Stoch. Anal.*, **01** (2006), 1–23.
- [3] Debnath L. and Bhatta D., *Integral Transforms and their Applications*, 2nd Edition, Chapman and Hall, New York, 2015.
- [4] Kimea J. M., Fractional Calculus: Definitions and Applications, *Western Kentucky University*, 4,(2009).
- [5] Kamal A., The New Integral Transform "Kamal Transform", *Adv. Theor. Appl. Math.*, 11(04),(2016), 451-458.
- [6] Kiwne S. B. and Sonawane S. M., Application of Sumudu Transform of two variable functions with Hermite Polynomial to Partial Differential Equations, *Adv. Math. Sci. J.*, **9** (2020), 107–118.
- [7] Kiwne S. B. and Sonawane S. M., Mahgoub Transform Fundamental Properties and Applications, *Adv. th. App. Math.*, **7** (2018), 500–511.
- [8] Kiwne S. B. and Sonawane S. M., Double Kamal Transform Theorems for Solution of Partial Differential Equations, *Proceedings of IMBIC, 13th International Conference on MSAST*, Dec. 21-23, (2019), Vol. 8, 111-120.
- [9] Mahgoub M. M. A., The New Integral Transform Mahgoub Transform, *Adv. Theor. Appl. Math.*, 11(04),(2016), 391-398.
- [10] Shaikh S. L., Introducing a New Integral Transform: Sadik Transform, *Am. Int. J. Res. Sci. Technol. Eng. Math.*, 22(01),(2018), 100-102.
- [11] Sonawane S. M. and Kiwne S. B., Sandip Transform Properties and Applications, *South East Asian. J. Math. and Math. Sci.*, **17** (2021), 199–212.
- [12] Sonawane S. M. and Kiwne S. B., A Cryptographic Scheme with Laplace-Carson Transform and Sandip's Method, *South East Asian. J. Math. and Math. Sci.*, **18** (2022), 01–10.
- [13] Sonawane S. M. and Kiwne S. B., A Note on Solution of Linear Partial Differential Equations with Variable Coefficients Formed by an Algebraic Function Using Sumudu Transform with Sm Operator, *AISC volume 1405* (2022), 129–139, DOI: 10.1007/978-981-16-5952-2 12.
- [14] Sonawane S. M. and Kiwne S. B., On the Applications of Laplace - Aboodh Transforms in Engineering field and Comparison with Sumudu Transform, *Glob. J. pure appl. Math.*, 15 , no. 6,(2019), 1079-1101.
- [15] Sonawane S. M., Proparties of Sandip Transform with Incomplete H-function and Applications in Cryptography, *Non linear Studies*, 30 , no. 3,(2023), 989-997.
- [16] Watugala G. K., Sumudu Transform: A new Integral Transform to solve Differential Equations and Control Engineering Problems, *Int. J. Math. Educ. Sci. Technol.*, (24),(1993), 35-43.